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CA2
Red Swastika School
Pr 4 Mathematics Revision Worksheet {§)
Name: { ) Date :
Class:Pr. 4

Queslions 1 to 20 carry 2 marks each. For each question, four options are
given. One of them js the comrect answer. Make your choice (1, 2, 3 or 4).

Shade the correct oval {1, 2, 3 or 4} on the Optical Answer Shest.
‘ {40 marks)

1 . Inthe number 58 780, which digit is in the tens place?

(1) 5
3 7
(4 8

2 Which number below is 1G more than 35817

{1) 3582
{2) 3591
{3) 3681
(4} 4581

3 What fraction of the shapes in the box are x ?

X ®X® X
XX @ XX
)
@ 32
@ 15
W %
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What is the missing number in the box?

(1)
{2)
(3)
(4)

15
17
20
23

In the figure below, which angle is smaller than a right angle?

(1)
(2)
(3}
(4}

Za

b
Fdv
Zd

Express 0.06 as a fraction in its simplest form.

(1)

(@)

3

(4

L] B
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56 is not a muitiple of

{1) 8
2y 7
3) 6
(4) 4

Shaun went into the library at 13 §5. Given that Shaun stepped out

of the fibrary at 15 40, how long did he spend in the library?

{1) 105 mins
(2} 135 mins
{3} 145 mins
{4} 185 mins

A number when rounded {o the nearest thousand is 12 0600. What is

the greatest possible value of that number?

(1) 11998
(2) 12449
{(3) 12499
(4) 12999

The tabie below shows the number of $1 coins, $2 and 5 notes
collected by four students during the first hour of a fundraising

event.
Student $1 coin $2 note $5 note
Alison 8 15 10
Bealrice 10 18 10
Charles 10 10 10
Danny 8 15 8

Who collacted the most amount of money?

{1} Alison

{2} Beairice
" {3} Charles

(4) Danny
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11 How many symmetric figure(s) is/are there below?

(1)
(2)
(3)
{4)

12 The figure below is made up of rectangle EFGH and square JKLM.

Figure A

1
2
3
4

Figure B Figure C Figure D

Find the sum of the length FJ and GM.

(1)
(2)
(3}
(4}

Qcm E

E >
A
16 cm
o K
Ia cm
L 4
H G ‘
M€ "L
5¢cm
15 cm
18 cm
21 cm
25 cm
A4
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14

PQRS is a rectangle with its length thrice as jong as its breadth as
shiown below. Find the length of rectangle PQRS given that its
perimeteris 120 cm.

P Q
S« > * R
{1} 15cm
{2y 30cm
{3) 45cm .
{4) 80cm

A picture is mounted on a frame measuring 24 cm by 16 cm. fthas a
border of 4 cm around it. Find the area of the picture.

picture 16 om

&
A J

24 cm
(1) 48 cm?
(2) 128 cm?
(3) 240 cm?
(4} 384cm?
5
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16

17

The scale below shows the mass of two identical wooden blocks. Find
the mass of ong wooden bloek.

(1)
(2
(3)
4)

wnoden biock

wooden block

1.15 kg
1.3 kg
2.3 kg
2.6 kg

Muthu wanted to buy two shirts that cost $25.65 each, but he was
short of $14.20. How much money did Muthu have?

(1
(2)
(3}
(4}

$11.45
$37.16
$39.85
$65.50

A machine took 36 minutes to make a box. Mr Ahmad turned on the
machine 1o make 4 boxes continuously. At 5.30 p.m., he tumed off the
machine after it had made 4 boxes. What time did he tum on the

maching?

(1) 1506
{2) 1546
{3y 1914
(4) 1954
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19

The picture below shows a map of XYZ Neighbourhood.

Park

Playground
X

The library is north-east of the

1)
(2)
(3)
(4)

Xavier, Yan Li and Zoe shared 1400 cards. Xavier had 200 fewer
cards than Yan LI and twice as many cards as Zoe. How many cards

cinema
market

park

playground

did Xavier have?

M
(2)
(33
(4

240
300
480
640
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20 Vivian is standing at A facing south-west.

—b Z

Main Entrance
Rainforest Walk Tram Station

45° _
Pavilion A Lion
Enclosure
Horse-riding Zone Playground
Restaurant

Vivian turns through an angle of 225° in an anti-clockwise direction.
Then, she makes a in the clockwise diraction 1o
face the [ion enclosure.

{1) % -turn
(2) % -turn
{3) % -turm

{4) 1 complete turn
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Red Swastika Schoo!

Prd4 Mathem:_atics Revision Worksheet {(4)

Name : { ) Date :

Class: Pr. 4

Questions 21 o 40 carmy 2 marks each. Show your working clearly in the
space below each question and write your answers in the spaces provided.
For questions which require units, give your answers in the unils stated.

{40 marks}

21 The perimeter of a square is 24 cm. What is its length?
?

Ans: cm

22  ‘You are given four number cards.

31425

Arrange the cards to fonm the greatest 4-digit odd number.

Ans;

23  Tom drew four lines as shown below. Measure the marked angle
LGRS,

S

Ans
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The line graph below shows the amount of money Siti saved at the
end of each month from July to November. Study the graph careiuily
and use it to answer Questions 24 to 26.

80 =T
TN
Il LY II ™
50 7 T\ 7
I, \\ [I
= 7 \ /
g LR 4
1 Y [
H AL/
l
20 v
[H
July Aug Sept Oct Nov
Month

24 Find the sum of Siti's saving in July and Augusl.

Ans: $

25 Which month did she save thrice as much as September?

Ans:

26  What was the difference between Siti's highest and the lowest savings
recorded on the graph?

Ans: §

10 6
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27  The table below shows the number of people who altended an event

tast weekend.
Number of peopie
. Male erloey: ::g
Female wﬁiﬁin A 25

% of the people who attended the event were adults. Find the number
of girls who attended the event.

Ans:

28 In the figure below, afl the lines meet at right angie Find the permeter
of the figure.

t0cm

L}

el
-t

£ %
.

=

Ans: cm

11 | 4
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29 Jason's clock is 25 minutes slow. After spending 30 minutes an painting,
the time on his clock was 11.15 a.m. What was the actual time he started

painting?

Ans; a.m,

30 Two rectangular mats, each 4 m by 6 m are placed on the floor as
shown below. The mats overlap and the area of the floor covered by
the overlap is 8.4 mZ. Find the length of AB.

AnNs: m

12
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31  Wirite eleven thousand and thirty-four in ﬁgureé.
Ans:
32  Find the product of 2150 and 3.
Ans:
33 Two factors of 10 are 1 and 10. What are the other two faciors of 107
Ans: and
. 5 2
34  Whatis the value of 8% 3 7

Express your answer as a mixed number.

Ans:

13
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35 Which two of the fractions below are smaller than > ?

4 5
7 012

o
Oyl

Ans: and

36  In the figure shown, PQRS is a rectangle. Find ZT3U.

P T Q
tJ
429
189
S R
AnS; s
37 54-—-08B8=
Ans:

38 Arrange the following numbers in order from the greatest to the smallest.

0.052, 0.205, 0.502

Ans: . .

(greatest) {smallest)

14 | 8
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39  write the decimal represented by A.

25 IR U TN A I S R IO

I LG S A

0.4 T 0.5
A

Ans:

40  GComplete the symmetric figure below with XY as the line of symméiry

15
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Questions 41 to 48 carry 3 or 4 marks each. Show your working clearly in the

space below each question and write your answers in the spaces provided.
(30 marks)

N | Mr Rahim bought 10 muffins and 2 donuts from a bakery. The muffins
were sold in packs of 2 for $3.65 and Mr Rahim paid less than $20 for

all the muffins and donuts baught.
{a) How much did Mr Rahim pay for the 10 muftins?

(b} Was a pack of 2 muffins cheaper cr more expensive than the
total cost of the 2 donuts?

Ans: (a) (3

(&) 1]

42 4 identical rectangles are arranged as shown below. XY is 13 cm and
the unshaded area Square ABCD is 81 cm?. Find the breadth of the

reclangie.

Ans: {4]

16
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43  Atankwas parily filled with water at first, A tap was then fumed on for
30 minutes to fill the tank completely. The line graph shows the
volume of water in the tank at regular intervals of time for 40 minutes.

(a)
(b}

(c)

200
160

120

4]
o

e

&
o

Volume of water {/ )

o

10 20 30 459

Time {min)
How many litres of water were there in the tank at first?

How many litres of water was added into the tank between the
10™ and 30% minute?

The bar graph below shows the amount of water in the tank from
the 20% to 30" minute. Draw the bar representing the amount of
water in the tank at the 40" minute in the bar graph below.

_ 240 ——
~ T T
§- 180 —
% 120 ;:;
3
. 0 4
30 40
Time {min)
¥
Ans: {a) {1
{b) 2
4
17
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Ali uses sticks to form figures that follow a pattern. The first five
figures are shown below.

[ ] |

Figure 1 Figure 2 Figure 3 Figure 4 Figure 5

{(a) The table below shows the number of sticks used for each
figure. Complete the table for Figure 6 and Figure 7.

Figure Number Number of sticks used

1 4
2 7
3 10
4 12
5 15
3]

7

2]

(b) What is the difference in the number of sticks Ali would use for
Figure 9 and Figure 117

{¢) in which figure number would Ali use 40 sticks?

Ans: (b} {1]
{c) 1
18 4
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Mrs Tan had 5. m of blue tlbbon, 5 5 m of red ribbar and 6 3 m of
green ribbon.

(@} Find ihe difference between the length of the longest and the
shortest ribbon Mrs Tan had.

{b) Mrs Tan then used an equat length of the blue and red ribbor to .
tie a present,

Each statement below is either true, false or not possible 1o teli
from the information given above.

For each statement, put a tick { ¥ } in the correct column.

Not
Statement True False | possible
1o sl

Afler tying the present, Mrs
Tan had a longer length of )
biue ribbon than red ribbon
left.

After tying the present, the
length of the red ribbon was
fwice the length of the biue
ribbon feft.

i2)

Ans: (a) 14

End of Paper

18 4
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ANSWER KEY
YEAR : 2021
LEVEL : PRIMARY 4
SCHODL : RED SWASTIKA SCHOOL
SUBJECT : MATHEMATICS
TERM : REVISION WORKSHEET {4)
jqlr |4 Q2 |2 Q3 |3 Q4 |4 as |4
a6 |1 Q7 |3 a8 |1 Q |3 Qo |2
Qi1 |1 Q12 1 Q13 I3 Qia |2 Q15 |2
Qe {2 Qi7 |2 Qs |4 Qis (3 Qo |1
021 bem
Q22 | 5423
a23 | 160°
Q24 | Si12
Q25 | November
Q26 | $56
Q27 |28 25418243 434§=3f
Q28 | 60cm
Q29 |11.10a.m.
Q30 | 6x4=24
24-8.40=15.60
15.60+4=3.9m
Q31 11034
Q32 | 6450
Q33 |{2and5s
Q34 ;% % =1 jé; 2'15.
Q35 < and%
Q36 |29°
Q37 472
Q38 | 0.502,0.205,0.052
Q39 | 0.43
Qa0 ———— =
AN
o 1 = S e
= P E
=
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Q41

20.00-18.25=2.75

(a)Mr Rahim paid $13.25 for 10 muffins

{b}2 muffin was more expensive than 2 donuts
{a)$18.25

{b) more expensive

Q42

13-9=4
4+-2=2
The breadth of the rectangle is 2cm

240 — - I '

180

Volume of water {7 )

30 40

{a)There was 608 of water in the tank
(b)80€ was added between the 10" and 30" minute.

Q44

{(a} | 17
20
(b)The difference in the number of sticks is 5

(c)Figure 15

Q45

r

Blue ribbon=5§

Red rihbon=5§

Green ribbcnzﬁ%

57-45=8

65=50=cm

(a)The difference between the length of the longest and the shortest
ribbon is gm.

()

True .’ Faise Not possible to tell

v

TAD
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